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General Instructions :
(i)  The question paper comprises two sections, A and B. You are

to attempt both the sections.

(ii)  All questions are compulsory.
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(iii)  There is no choice in any of the questions.

(iv) All questions of Section-A and all questions of Section-B are
to be attempted separately.

(v)  Question numbers 1 to 3 in Section-A are one mark questions.

These are to be answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section-A are tweo marks

questions. These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section-A are three marks

questions. These are to be answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section-A are five marks

questions. These are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section-B are multiple choice
questions based on practical skills. Each question is a one
mark question. You are to select ome most appropriate

response out of the four provided to you.

(x)  Question numbers 34 to 36 in Section B are two marks

questions based on practical skills. These are to be answered
in brief.

1 -A
Section-A

1. 38 gusdig 9ol < 3 wew 1 9 7R 57 fafe forw amm g
C.H, ;% 1

Write the name and formula of the 2nd member of homologous

series having general formula C,H,,_,.
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2. fd-3gwa ®TRY

What is speciation?

3. Sa i R ssa - st i & gys sen d i
UsahT TR ¢
Why should biodegradable and non-biodegradable wastes be

discarded in two separate dustbins?

4. 39 U g0 &4 foresi < wlafesi & 91 fafie wemi i g=ht sy

List four specific characteristics of the images of the objects formed

by convex mirrors.

5. WHETR T T ST WU ¥ HaG, &l @Il sl g=1 1Y
List two advantages associated with water harvesting at the

community level.

6. =W W o Fsh FR % o fifr W TEeE % 39 § 0
foFe w9 weRd 27 fH-R Ifirm W emenfa T W TRt #r
ERIERIEN
Everyone of us can do something to reduce our personal
consumption of various natural resources. List four such activities

based on 3-R approach.

7. UHTA @l oTYe |18 H,S0, # 443 K W H ot 9 918 Aifirek o A
3t 3een wea g3 fofge) 5o sifufsan @ @ig H,S0, i yfie fafan
T B ATt AT 1 T Tt ot i)
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Write the name and structural formula of the compound obtained

when ethanol is heated at 443 K with excess of conc. H,SO4. Also

write chemical equation for the reaction stating the role of conc.

H,S80, init.

8. fret 3fua ey it Temar @ 9 arelt fufwa & fou smaws
gitfedrfoat o Seora Fd gU, ETESISHIHT AT hi STEn hifsie
AT 36 AT B 99 3R F ofifos e § € e aftEda &
Jeorg o i | 3

With the help of an example, explain the process of hydrogenation.
Mention the essential conditions for the reaction and state the

change in physical property with the formation of the product.

9. I F® da RUMTE - - 3
4Be; oF; 19K oCa
T ¥ (i) 98 9 gHT o S F19 8 0 oeeE €, (i) '9H
R % 81 9ed 9AY T K T ad X (2,8,7) % T | & AMfiieh
il U g fefe
From the following elements :
4Be; oF; 10K 5oCa
(i) Select the element having one electron in the outermost shell.

(i1) two elements of the same group.
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Write the formula of and mention the nature of the compound

formed by the union of 19K and element X(2,8,7).

10. s ST qRoft # et s wer fftaw) Bt smad § aef @ e
Wﬁmaﬁﬁﬁmﬁtwﬁmwﬁﬁﬁﬁwqﬁaﬁw
aﬁ@ﬁmlﬁsﬁwﬁwﬁaﬁéaﬁwaﬁﬁ?ﬁéﬁmﬁn
I 15 H, AR aftads 819 €, 9 37 Ieerm sht it

Write the number of periods the Modern Periodic Table has. State
the changes in valency and metallic character of elements as we
move from left to right in a period. Also state the changes, if any,

in the valency and atomic size of elements as we move down a

group.

1L mﬁmmaﬁmﬁmﬁﬁnﬁﬁﬁuﬁ%wﬁfﬁﬁlﬁr
SR | $9 Tt 1 39T freht o % wmeen 31 Tgfg 1 vy wY
& fobr s v s 27
List any four methods of contraceptions used by humans. How

does their use have a direct effect on the health and prosperity of a

family.
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12. (a) ﬁrr%if?@aésm%ﬁaqﬂ
(i) TssiuE & Jufedre e SiEfl G S S % | R 8 |
(i) S99 ¥ 90T T o ITell TESE H g S ST & e
Tt | fosfia gem = |
(b) Tz et for Tesiive § “gew Tesl’ @ fifd AT s19e s T
YRR Tl & AR $HehT o1 1 & 3

(a) Name the following :

(i) Thread like non-reproductive structures present in

Rhizopus.

(i) ‘Blobs’ that develop at the tips of the non-reproductive
threads in Rhizopus.

(b) Explain how these structures protect themselves and what is the

function of the structures released from the ‘blobs’ in Rhizopus.

13. fRuufem & A, B a9 C 9 & A Ud 39k 1 faaiau| 3
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Name the parts A, B and C shown in the diagram and write their
functions.

14. (i) @ﬁﬁm,aﬁz,aﬁa@ﬂaﬁimmﬁﬁaﬁ%%lmmﬁ
Yt 1 e e f el ) s w0 # R
£7 o 39 A gfE FifT

(ii) “ﬁaﬁmﬁmuﬂqﬁﬁ@w%n”wwﬁmmm
i)

(i) Planaria, insects, octopus and vertebrates all have eyes. Can we
group eyes of these animals together to establish a common

evolutionary origin ? Justify your answer.

(ii) “Birds have evolved from reptiles”. State evidence to prove the

statement.

31/1/3 8



15.

16.

¥,

18.

IuTfeid @&rT 3R SATgafTes wevn 4 faded s arelt @) faewanst &
qTfeTehTerg; ShifSTT | Tedsh &0 31 Ueh-Ush Iaree ff vy

List in tabular form, two distinguishing features between the

acquired traits and the inherited traits with one example of each.

vy T g died & fow g U @ fRon e 3w e
ST & Toreht gdor & wrerdS & gvana fesmd aierdr § 9ra i S gt 3
tHt & a1 Rl g i sraae odu @ wEd o gvEnd e fRemd
foftau)| 7 31 foreort =1 3wam e 12 cm $IHE gl % Fadd 00 §
8 cm gl T feuq fopell fora & aor g a1 wiafors Y fedfy ok wopfar
@ &)

To construct ray diagrams, two rays of light are generally so
chosen that it is easy to determine their directions after reflection
from a mirror. Choose two such rays and state the path / direction
of these rays after reflection from a concave mirror. Use these
two rays to find the position and nature of the image of an
object placed at a distance of 8 cm from a concave mirrar of focal
length 12 cm.

AR TRE T TR & e fife & gEten of gt % ang
T TFdTe 1 i g2 ?

With the help of a labelled diagram, explain why the sun appears

reddish at the sun-rise and the sun-set.

TETAT o 9T T 194 T 3 oy gete 3 ures § fussfre womn
gt 3= WY i -grdt Y wifees it Afert stver fesat # O
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T T S T T g P - s i e

ﬁﬁ%ﬁﬁmﬁﬁﬁﬁmmmmﬁﬁwﬁ

tmaﬂ%rﬁﬁwmﬁaaﬁgﬁaﬁm—mmsﬂt%ﬁ%ﬁmﬁaﬁ

Wﬁmaﬁ&%ﬁaﬁt%ﬁi@mmﬁ%ﬁﬁ@mﬁ

ﬁiwﬁaﬁﬁmwwﬁw

(a) m%ﬁwﬁw@mﬁmﬁﬁwmmﬁ@%ﬁwﬁ?ﬁ
iR feast fafy 87 FI? TR TN GAT T I F e
ferfiam

(b) wﬁﬁaﬂtasaﬁﬁwwﬁﬁan%awmém%?

After the examinations Rakesh with his friends went on a picnic to
a nearby park. All friends carried cooked food packed in plastic
bags or plastic cans. After eating the food some friends collected
the leftover food and plastic bags etc and planned to dispose them
off by burning. Rakesh immediately checked them and suggested
to segregate the leftover food and peels of fruits from the plastic
materials and respectively dispose them off separately in the green

and red dustbins placed in the corner of the park.

(a) In your opinion, is burning plastic an eco-friendly method of
waste disposal? Why? State the advantage of method suggested
by Rakesh.

(b) How can we contribute in maintaining the parks and roads neat

and clean ?

31/1/3 10



19.

20.

31/1/3 ' 11 [P.T.O.

g 3T T AT WA W@ fe o @ e Rt wfifes %
Hor-wr 3eel foaftia wfafora off s wehan 217 3@ e i g & Rm
YT fortur 3@ Wifere qor g e o ¥ ane o ) fRfy
=1 eor@ Ht A

4 cm TS 1 IS T 10 om e gl % 7ade o8 & 20 om g W
ferd R o g3 % 3T & o g a A wiafer i Rl futfa
it

“A convex lens can form a magnified erect as well as magnified
inverted image of an object placed in front of it.” Draw ray diagram
to justify this statement stating the position of the object with

respect to the lens in each case.

An object of height 4 cm is placed at a distance of 20 cm from a
concave lens of focal length 10 cm. Use lens formula to determine

the position of the image formed.

(a) eRTSI o HYFGH o 98 fafay| forelt wreay & ey suadis 6
SRS “hiteT, 7R Fafa § yeprer i =Tel & 919 395 96y i <9
Tl ik o

(b) < HTEEET ‘A’ 3R B’ % fiTie sruadie s 2.0 3 1.5 8| g
H1egH ‘B’ H YT =@ 2108 m/s ®, )

(i) Faa,
(i) mmeg A’
H yehTe i =Tt afterferd hifsg)



(a) State the laws of refraction of light. Explain the term absolute
refractive index of a medium and write an expression to relate it

with the speed of light in vacuum.

(b) The absolute refractive indices of two media ‘A’ and ‘B’ are 2.0
and 1.5 respectively. If the speed of light in medium ‘B’ is
2x10®% m/s, calculate the speed of light in
(i) vacuum,

(1) medium ‘A’.

21. IS BT I 4 m R R v W o el B el
urdl| T B 5 gfe-dy & difed 8 3w am fafan) 38 3w & |t
i fafer i = fifso) =9 .
(i) gf-gm e
(i) 39k GumeA
1 g1 o fore foror e difum)

A student is unable to see clearly the words written on the
blackboard placed at a distance of approximately 4 m from him.
Name the defect of vision the boy is suffering from. Explain the
method of correcting this defect. Draw ray diagram for the :

(1) defect of vision and also

(11) for its correction.

22. WH4 H1E1 S 93 7 Fefafiad & = foafaw
SAVEN, JEdTieeh], T
U1 1 | 3 IR | 9T fohe YRR 916 g1 87 Farg o goiq i)

31/1/3 12



23.

24.

Write the functions of the following in human female reproductive

system :
Ovary, oviduct, uterus

How does the embryo get nourishment inside the mother’s body ?
Explain in brief,

uﬂa’iﬁw@%%ﬁﬁ%ﬁﬁ%?sﬁﬁﬁn—@éﬁ@ﬁmw
Y wal § fom-g3 Rre wem 3 2y 37
“%ﬁwmwﬁn,méﬁﬂ%awmﬁ(w—ﬁm)ﬁ@%m
ﬁﬁmmmﬁqﬁwmwf’wmmaﬁgﬁzw
T f3rg) o fomt ferfoor ) wideen =1 <oty a7t ware o1 91 daw
Fifs

How many pairs of chromosomes are present in human beings?

Out of these how many are sex chromosomes ? How many types of

sex chromosomes are found in human beings?

“The sex of a newborn child is a matter of chance and none of the
parents may be considered responsible for it”. Draw a flow chart
showing determination of sex of a newborn to justify this
statement.

AT SIS o6 el qead: geaaistt oy gry & A &1 Rt
I FAT 2| HTE E sreaters we i Afient =5 b fee o ¥ o)
@ I 1 Ha H et AR w9e S B w70 s
= dedll % @y Al stery v w9t B 3
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25.

26.

Hr-g

(A) w7TTEg 3R Reeht % v
(B) =mmeg i s % vg

(C) F ik foraeht 3 vy

(D) T, w5 3t fswapeft % sqrara

Four students A,B,Cand D reported the following set of organs to
be homologous. Who is correct ?

(A) Wings of a bat and a butterfly

(B) Wings ofa pigeon and a bat

(C) Wings of a pigeon and a butterfly

(D) Forelimbs of cow, a duck and a lizard

%mm#a%%aﬁa%a{w%ﬁﬁmwﬁﬁwm%%wrﬁﬁ
1 &t reft st e
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<7 & o013 et W
(A) IIL I
(B) IL IIL IV
(C) IL1V,V
D) ILIV,V

A student indentified the various parts of an embryo of a gram seed
and listed them as given below

(I) Testa

(II) Plumule

(III) Radicle

(IV) Cotyledon

(V) Tegman

Out of these the actual parts of the embryo are :
(A) LII, I

(B) ILII, 1V

©) 1L 1IV,V

(D) IL1IV,V

27. wwﬁﬁqwmﬁamﬁmwﬁmmﬁ@ﬁﬁm
qﬁmmw%m%amﬁmﬁﬁmaﬁmmﬁ%%qa@rm
UL 1
(A)%aé’aaﬁra%aﬁaa?rag’r
(B)aﬁﬁéuaﬁa;aﬁira?raﬁ
(C) mﬁwauﬁrﬁm%aﬁaaﬁgﬁ
(D)ﬁaﬁﬁwaﬁaﬁ%w—wﬁmwwﬁﬁw%aﬁaﬁaﬁ%ﬁ
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A student has obtained a point image of 4 distant objeét using the
given convex lens. To find the foca] length of the Jeng he should

measure the distance between the

(A) lens and the object only
(B) lens and the screen only
(C) object and the image only

(D) lens and the object and also between the object and the image

28, ﬂéﬁqnqaﬁama?waﬁﬁqaﬂtg%‘X’%%wﬁHﬁm
M
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Study the following diagram and select the correct statement about

the device ‘X’ :

< 12 cm -5
| 5 |

(A) Device ‘X’ is a concave mirror of radius of curvature 12 cm
(B) Device ‘X’ is a concave mirror of focal length 6 cm
(C) Device ‘X’ is a concave mirror of focal length 12 cm

(D) Device ‘X’ is a convex mirror of focal length 12 cm

29. w7 % o0 & T arelt wehTe St ek feRter w1 A Eie % TeEd OF
B 3, 3@ § 2Ny ILER, A 0T (Li), STTEE 01 (Lr), Fid
FI (Le) T e 107 (D) siftha o) & g o ot i wel
3ifera P T 8, TR FIT E 1
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(A) Zi3R Lr
(B) Zi3R Le
(C) 4i, Le AR 4D
(D) Zi, Zr 3 Le

After tracing the path of a ray of light through a glass prism a
student marked the angle of incidence (i), angle of refraction (£r)

angle of emergence (Ze) and the angle of deviation (£D) as shown

in the diagram. The correctly marked angles are :

(A) Liand Lr

(B) Ziand ZLe

(C) 4, Leand £D
(D) 4i, £rand ZLe

31/1/3 18



30. SRBHE P, Q, R 3R S 7 i F ek = & 40° F F0r W iy
BT T & T ATt e Y R 36wt o it 3k sedg -
1 A9 ft| 399 g1 A Tl g s 189 22°; 25° ok 30° off| @
1 HE ST Y FA AT DD - 1
(A) P
(B) Q
(€) R
(D) S
Four students P, Q, R and S traced the path of a ray of light passing
through a glass slab for an angle of incidence 40° and measured the
angle of refraction. The values as measured them were 18°; 22°;

25° and 30° respectively. The student who has performed the

experiment methodically is
(A) P

(B) Q

(C) R

D) s

31. et ST 1 R F T FE St sueey 7€ #1 AR F waw Ru

Y | 1
(1) =fean winee

(I) HifeTy ge%e

(1) HfaTm FeiRTss

(IV) e gethe

(V) drfimm FeinmEe

(VD) &=fiem gethe
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A fow T 57 il % 3w W w1 9AC K 5w wee ot # gen
TS I FST T ;

(A) LILV
(B) L 1II, V
(C) 1L, IV, VI
(D) 11, IV, VI

Hard water is not available for an experiment. Some salts are given

below :

(I)  Sodium chloride
(I)  Sodium sulphate
(IIT) Calcium chloride
(IV) Calcium sulphate
(V) Potassium chloride

(VI) Magnesium sulphate

Select from the following a group of these salts, each member of

which may be dissolved in water to make it hard.
(A) LILV

(B) LIIL V

(C) IIL IV, VI

(D) 11, IV, VI

31/1/3 20



32, Torelt BT 3wt srfufwmar @1 sterm 0 % fT u e A
20% Hiferm erggiamse foerm s mn| 9 sed wafta 59 Jaw Ru
MR : 1
(1) Toeaa 8§ gom W ot forens e 2 mar
(IT) Fifeam BTsgradTse Siet § vy et Sl 2
(111) forer & W sfeh STet & & W 31 wdid aar 2
(IV) forer & gam = et forens o @ &t
T HET Jeor § -

(A) LIl AR IV
(B) I, II 3R I
(C) IRV Fad
(D) I 3R II had

A student prepared 20% sodium hydroxide solution in a beaker to
study saponification reaction. Some observations related to this are

given below :
(I) Sodium hydroxide solution turns red litmus blue
(IT) Sodium hydroxide readily dissolves in water

(ITT) The beaker containing solution appears cold when touched from

outside

(IV) The blue litmus paper turns red when dipped into the solution

31/1/3 21 [P.T.O.



33.

The correct observations are :
(A) LIland IV

(B) I, Il and III

(C) onlyIIl and IV

(D) only [ and II

F1E BT T T § 2 mL 3Tgd Sie i 388 2 mL Ve o
fiemar 81 3ok T 9® W fyw R aefivify Reew Fw
o foTu 7@ 31 8| @ 5 fire o vea e Je007 S 9T 9T € e
T

(A) U =8 Ures T faeam

(B) T T qRael] e faermm

(C) =I% &g S aefl W I3 w8

(D) e 31t sl T T 5T h! T

A student adds 2 mL of acetic acid to a test tube containing 2 mL
of distilled water. He then shakes the test tube well and leaves it to
settle for some time. After about 5 minutes he observes that in the

test tube there is :

(A) a clear transparent colourless solution
(B) a clear transparent pink solution
(C) aprecipitate settling at the bottom of the test tube

(D) alayer of water over the layer of acetic acid

31/1/3 22
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34. 3T T F TR H Jg T F fow R foew gt A afeds w0 w
wirfers ot # for semmt wftada g 2, i o ofw & w6 30 W R
ferelt =mehict oy =1 8 W el sfafersr wmw aan 21 599 gved T
#R-dR 59 forar ! &g A @I @@ R 3 & an yffne B 0@ w
HIRE U 2 2
(a) Widfers =l BT Fd THY IY 12 FI 767 33 GHHAT T & - ofF

1 AT S T § g7
(b) 93 R 5 Fffor 1 G13s wed &, S1ua aEdr 27
(c) Tomar =l o186 % g (ohe & S W 11 S 27
To find the image-distance for varying object-distances in case of a
convex lens, a student obtains on a screen a sharp image of a bright
object placed very far from the lens. After that he gradually moves

the object towards the lens and each time focuses its image of the

screen.

(a) In which direction — towards or away from the lens, does he

move the screen to focus the object?

(b) What happens to the size of image — does it increase or

decrease?

(c) What happen when he moves the object very close to the lens?

31/1/3 23 [P.T.O.



35, 37 3 Y& 1 gt SR R oY 3§ T Hd ©, o 3 fe
Tl  TEifE sne went 3EH U el Hifean ETESe HeHe
firera €1 21 arrett srfiferar 1 vaatie afte fofag

List two observations which you make when you add a pinch of
sodium hydrogen carbonate to acetic acid in a test tube. Write

chemical equation for the reaction that occurs.

36. 3T ISTE ST F1 FT FES & TEH UF S IR & Q& Hard
FITTERTd St § 3R S IR Rl HATETed THIH & ST 27 $6 T
¥ W ¥ Teet o arfam =xur & fo dife) o s fore afteeT &
1Y ST T 27

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Draw the initial and the final stages of this type of reproduction.

State the event with which this reproduction starts.

31/1/3 24



